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Lesson 4 — General Form Ax+By+C=0

x-intercept- the x coordinate of the point when a line or curve crosses the x-axis; the value
of x when y=0.

y-intercept — the y coordinate of the point when a line or curve crosses the y-axis; the
value of y when x=0

I
Example 1:
For the linear equation 2x+3y-12=0, ( Q)j) — Y . k/ {\
a) state the x-intercept ()SQ) U =0 INR/UP
=0
IX + 3)- 12 =0 2 s X o
22X —1a =0 8 ¥ = G
X TR T Pa =z xmkmef -0
Therefore, the coordinates for thc x-intercept is t(o 0) — é C 6 6) -
b3 state the y-intercept ] j) X = )
= —(—: \Z- —r-\?_ /
Therefore, the coordinates for the y-intercept is ©. L/ T du A \_
c¢) use the intercepts to graph the line. - ht 1 X = ]h‘\’“ QF
d] What is m]opcoftm graph? : "}.;\( 4,6) N = — ”./l‘
‘(V\'-A\( L?gl_ ey - — ] ‘\> f.g
DPx ©O—6 ,4, =
¢) Determine the equation of the line using
slope-intercept form, that is, y-mx+b

="+ 4 =Y
=77 9=

Example 2:

Change the equation from standard from 2x + 3y -12 = 0 to slope-intercept from algebraically.

/AtX‘\‘ \oy—t‘CP-O —> N= wX tb

Ax +1 te=0
%+ZY+£ 2x A\ —AX Y X
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AX ¥3y -& =0 V= mx + b
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Example 3:
Parents of the cheerleading squad rent a hall. They arrange a talent show as a fundraiser. The
relationship between the number of tickets sold, x, and the profit, y, in dollars, may be represented
by the equation 24x-2y-1680=0.
a) What is the slope of the line?
b} Identify the y-intercept.
¢} How many tickets must the parents sell to reach the break-even point, ) = _A lp) L:~

_ay C 1480 > Nz wx THE 5
),@ ’ g@; 2x +1680 -—213 b==16us
— 6 R _——_‘
—3y = A *\‘@f_ rhe e

—
— m =
N= (Ax -840 (6 i) 1 b= lso

Example 4: 340 -

Rewrite the equation each cqu'ilelon m;\:ukr.ﬂ&:g ;‘\\?.-—Byﬂi_ Q. \v\'hatull:c\'j‘u:d} intercepts of {- -2

I li v Gt = — .

l1c5:] nlc_s_;]( @ jlv\c rap ]é/ 2 zln’;\""‘\’f‘——}/ YIVJ"’“? b = —-8\/0
47 5>< 6 1 e Ay~ Y B €

— = |""
A o c)\{—|ZX~8VO §=pef
(o O] s = =
]{g,o%;ﬁ%\—z-&w o= im0 I

— \
Xinhera 2 ¥ 3w =0 X1 3x—4Hv —& =9 3x-1=0 +§(0 +840
\ Y: (o) il"fli‘::] l;]ﬂ:t: ;!::lll;:?naﬁun Agn:-&# l] \n(l:t.n one or more of A, B, C are 0, X =/§~ f{{ o= ]D)( )( 70
Ax+By=0 i i passes through the origin (0,0} ?\
=9 By+C=0 is a horizontal line, -8 (
Ax+C=Dis a vertical line, o) x=94 mosk sell 76 Hcbt
Example 5: + W‘( LVew -
DC:’\,I]‘JL each of the mllo\\ ||15<l|nc*= Identify the intercepts, then state the domain and range.
W S Y :
E N\sswj C 4 Gogy —H\roujl/\
YA:",”) b) )+4 %X‘\‘ \-~.\ ) D xeR
wmisse /W MV\ 2"'\ = .0
M:}z \|'3\LT30 Y= £ - '00) ()x j ZR
©) -1z Lk ~00 < X,y <P
V"“55"j E\f o \j = J ©-) Yy

X = \7/ = Qn \Nd .) .
= Mvz&\\:‘i( x=Y b) Dix eR

x =Y RY=-2
A D x=Y
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Example 6:

Brook wants to save $336 to decorate her bedroom. She has two part-time jobs. On weekends, she
works as a snowboard instructor and earns $12 per hour. On weeknights, she earns $16 per hour
working as a high-school tutor. arS

a) Write an equation to represent the number of heuse Bruoke needs to work as a snowboard

instructor, S, and as a tutor, T. \ = 5 ]G Ea,,yu‘/y _f- GAVMU\S
A heva . /T as + /16T =3

b) What is the S-int cept of a graph of the equation? What does the S-intercept represent?
’[:O ,13‘\’/1/52 gg 25 by pumld e prasuind ao &
12S = _3__3_£ AW 5 ot s Panctor \] reole Ares T

ISZ:Q?IZ Foctor

c) W hat would the T-intercept be? What does it represent?

_ 3¢ 20 hoavs wavlad o5 4
S0 +,\g‘ 3 dodor  aTlaents sy boav of
— a( iashuchy Rvng Bz

d) Suppose Brooke works 8h as a snowboard instructor. How many hours will she need to

work as a tutor? _
_CL*/(*'“J'W $=3 Qs + (6T = 33(
Ingws+ . 2(s) + (67T = 53¢

96 T (T = 334
—~9¢ —6
W17 = 290

Brok wll nsd & e T = /2
‘6 WS oS N -‘-u\\z‘v \_{ J‘b\,\ “,\S"lY\/kQ“I‘S bodlA)Vj

Sov 8 Ihowvs -
(B +hy +c=o
Texbbeok - s 1 popev et
Es-oxw\m\k#

Assignment: Why does a poor man drink coffee + Pg.
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